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I. Four alternatives are given below choose the correct answer and write in the space provided:   15*1=15  

1. The Dutch closed the trade in India because ________ 

    a) They could not complete with English      b) They concentrated on the islands of south East Asia 

     c) They were defeated by the French      d) The native rulers revolted against them 
2.The first governor who played prominent part in the expansion of the French Influence in India was …………… 

   a) Dupliex     b) Sir Eyre Coote    c) Robert Clive    d) Bussy 

3. The British Commander who defeatd Hyder Ali at Soliganur 1781 was _______ 

  a) Hector Munro   b) Robert Clive   c) Sir Eyre Coote    d) Major Hudson 

4. The Dasara Festival in Mysore was started by _____ 

   a) Chikkadevaraya Wodeyar   b) kanthirava Narasaraja Wodeyar   c) Raja Wodeyar d) Doddadevaraja Wodeyar 

5. Peshwa Bajirao II accepted the Subsidiary alliance by the treaty of………….[a) Bassein  b) Salbai  c) Lahore  d) Amritsar ] 

6. The revolt of 1857 was called by the British Historians as _______ 

  a) Indian freedom struggle   b) Sepoy muting    c) great revolt    d) The first war of Indian independence 

7. Identify the member nations of the Triple Entente ______ 

   a) Russia, England, and France     b) Germany, Italy, and France    

 c) Italy,  Austria, and Germany      d) Austria, England and France 

8. a workers earning that provides minimum basic needs is called the _______ 

   a)low wages    b) working wages   c) living wages    d) consolidated wages 

9. The greatest achievement of W.H.O is the elimination of  _______[ a) malaria    b) aids     c) cholera     d) smallpox  ]  

10.  Kharif : Paddy : : Rabi :……………….       [  a) jowar           b) wheat          c) Maize         d) Ragi  ]  

11. India imports long stapple cotton from ______   [ a) Kenya   b) Pakistan   c) Japan  d) Germany]  

12. The Central warehousing Corporation was started in _____   [ a) 1965     b) 1967   c) 1957   d) 1955 ]  

13. Mumbai is called the Manchester of India because it is the leading producer of ______ 

   a) Silk textiles   b) Jute Products   c) Cotton Products    d) Muslin cloth 

14. The second five year plan gave top priority to _______  [ a) agriculture  b) energy  c) transport   d) industries ]  

15. The seal that stands for quality products of oil and fat is _____  [  a) I.S.I    b)  EXIM     c) SAIL     d) AGMARK ]  

II. Fill in the blanks:             5*1=5  

1. The proclamation of Queen Victoria in 1857 is called _______ 

2. At present the education is brought under ______ list in our constitution 

3.The ‘Sorrow of Bengal’ is _____ 

4. Indian Grain Storage Centre has been set up at _____ 

5. A quick uptrend change in agricultural production is called _____ 

III. Match the following            5*1=5 

1. Separate Communal electorates     lokande 

2. Tha Supreme Court in Calcutta    M.G.Ranade 

3. Aligarh Muslim University      Dayananda Saraswathi 

4. Back to Vedas      Regulating Act 

5. The first Girls High school in Poon    The Act of 1919 

        Minto Marely Reform 

        Syed Ahamad Khan 

IV. Answer the following in a sentences each:         9*1=9 

1. Mention the Indian Judges who served at the International justice.   

2. What is the ideology of Karlmarx? 

3. What is meant by Balance of payment?     

4. What are manufacturing industries? 

5. Why was Exim bank started by the government?  

6. What is the main aim of the International Labour Organisation? 

7. Who is known as tiger of Mysore?    

8. What is Dowry? 

9. What is mangrove forest of Ganges delta called? 

P.T.O 



 

V. Answer the following questions in 2-3 sentences each:       16*2=32 

1. Mention the two important results of the fall Constantinople? 

2. What was the immediate cause of the revolt 1857? 

3. Mention any two aims of U.N.O 

4. Why is irrigation necessary in India? 

5. Mention the measures undertaken to prevent the soil erosion? 

6. How are cottage industries carried on? Give any two examples of the same. 

7. Why did the British take over the administration from Krishnaraja Wodeyar III ? 

8. What were the causes for the failure of League of Nations? 

9. Why did Saradar Patel devided to launch police action an Hyderbad ? 

10. Which are the illegal methods used for profiteering? 

11. Consumption of cement is the index of the Country’s progress. How? 

12. Why did the third five year plan fail to achieve its objectives? 

13.Mention the disadvantages of Air transport? 

14. Indian agriculture is a “gample with mansoon” why? 

15. Mention the geographical requirements for the cultivation of cotton and jute? 

16. What are the achievements Diwan Rangacharlu? 

VI. Answer the following questions in three to four sentences:      6*3=18 

1. What were the causes for the decline of the Portuguese? 

2. What is the impact of English education on the Indians? 

3. What are the functions of  U.N.O Security Council? 

4.. What are the problems of Small Scale industries? 

5. Why is well irrigation mostly practiced in India? 

6. What were the steps taken by the govt to improve the status of women? 

VII. Answer the following questions in eight sentences:       3*4=12 

1. How does Indian agriculture help in the economic development of India? 

2. Explain the role of Balagandhar Tilak in the freedom movement. 

3. Discuss the relationship between India and Russia. 

VIII. Draw a neat outline map of India and mark the following places      1+3=4  

1. 82 ½  N longitude  2. Mumbai  3. Thungabhadra Project . 
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